Ay Fhae (D TU3e- 2013
FHRH T ), | 12 f201z 2013 Code : B03

BOOKLET No. -

TeeYferaT
G 9T JT=oft THIT T : 100
A% : 1 (TH) T TROT I[V1 : 100
et

(1) B TFYRHd 100 e 997 ma. e yee It fafevarm geare woageht o wegfeda o
T 3R Thar Téfta Il EEh e . ora whE o Fd G Sewea™ € IR audaehihg

T SeTd AL _
(2) e Tha-shais a S Rl ;
T forarar ated . m‘m e o

(3) T SUAAT YT HHTE qHSAT ITUBHR ffdre Srft Sowfekealia geammet 7 R g s
@) () T FYErRdIe Tes ST 4 TRt S ogetee oE W 1, 2, 3 I 4 o wuTe fowiet oTRa.
T AR AR Hatq I09 IO FUTH ITWhalier FEITHN g ITRFat g FOA. I
YR ITEEFR IAGHATE TG AT o Haid TEHRHIREER SHTihd % quieen Jrd arh
i T}, EeRfET wes W vEe SfeA aved, A e ar s 9w e Ta.
(@) ST Sur Rearardt nudt wier s ureaw ffge Fee . v fawareT vl e wudt
3 v o SRy R fvin aeawh v sream, siears wdfim ww
it SyATeft oA ugrE. .

(5) T W GWE TV AT, 9Rad §d WA SR UrEd. U g BN e A gEar Soe Wl
foen 9 We9 dieaEad. FAE TIE A U IR IO el YR wET aeed diE 4 7
TSR Qe SRS F@T. I SR e Feedd Ngeedral de e Uit w0 wu
FIBACT TATHS vl W St

(6) ITRFT THa TR FAT I Wi AR . T FAA IR Gigd A4 I Beard ¥ qud IR
.

(M Wqﬁmmﬁmﬁwmaﬁmmﬁmwumwﬁﬁmm
“SHeEnT FRgite agwatl T gyl Reean ) wdd watn @ IR Swafrsd g
THEN, HAAUT oA ITWATAH Wifeiea wdle SR Ghrear IWAre! Th1 wedre o7 S« &vaTd

I
arbig

o Uairadt s fafge et as diwda § svgiee sl wemn s o wierwea SdgERTen
qigTdt arauaTE dvaTe 3 . § 3 duuda gt yeAgiRad A/ v, far vt wvgfendde s snwa
Mmmmmaﬁmﬁmw wHE Aig FO T T SRIT vt et aomn
R TRAH T Fevedr | whwme) gomar Ruwwi sfvda g sfifiaw-82’ ardie wgdgen
wa wafed SO WEdIaR HETE HUaE I5E § gt SIaRl SAT U auieat srvawTear st /fer sad

o AT THWSAT S3T=AT e um Fider.
mmmamwmwmmﬁm@wmwmmwwmwm
HFA AT , ade gltgrem sdagEhaget sTaelt 7l s sawlifreg e stifmnaw
NG m&éﬁaﬁﬁmmmﬁéﬂ




BO3 2
HET HIATATS! AR/ SPACE FOR ROUGH WORK



A 3 B03

1. % 9FR Iy Seae @eie faumrer e w5
I, qE HOR B g GAT e,
¥, T HEd Taud TAN gEw R
%. ¥ W W §aTa WIS AFH W ATHRRAM 30’ x 24’ IGF I94 2000 Fretamm 2.
®. e Alg Tonem g we Feft MR,
Tt S fram/fau g o 2
(1) *as A (2) a9 M &
(3) e A anfirw (4) @

Consider the following statements about Tarun Sagar :
a. Tarun Sagar is a Buddhist religious sage.
b. He wrote a book ‘Kadave Pravachan’.

c. The book is the largest in the world having size of 30" x 24" and weight of
2000 kg.

d. Itisrecorded in ‘Limca Book’.

Which of the statements given above is/are incorrect ?

(1) aonly (2) bandconly
(3) aandbonly (4) All

2. AT e gemd IR T ST diequarETdl SEgERl T 39E 3T
A, T ATEEt, Tram At s fak ame.
g, sAfamE sl SieEE ae aTefi.
%, forrmeren awgEh o w w0

T e YR SIEI/RIVE IYE AT AR ?

(1) Fa2 A (2) hdes & INftr &
(3) %ass 3 Il & (@) ¥, 9 H

To contro] the depreciation of Indian rupee compared to American dollar, measures
of ‘self-correcting mechanism’ are

a. Increase the export of software, machines and automobiles.
b. Increase the flow of dollars from NRIs.

¢. Decrease the imports of unrequired things.

Which of the measures given above is/are correct ?

(1) aonly (2) b and conly

(3) aandconly (4) a,bandc

Fowq] HHTHISE IR / SPACE FOR ROUGH WORK P.T.O.
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3.

4 A
T e U’ aea= Wit faumE e -
A R Fowr Tm am.
9. = S o @ Rl Fw am.
%. FAweR @ affer seicpe B fhen o i ot fieeen o,
T W U T R o S g avien siter TiaRe ae werE S
e wu R/ s e ?
1) %93 A (2) 9@ q A &
(3) hae o, g & (4) wd
Consider the following statements about “The Geod Road’ :
a. Itis aname of a film.
It is directed by Gyan Correa.

b
¢. It won the National Award for the Best Feature Film this year.
d

This is the second Gujarati film to be nominated officially for Oscars of next
year, in the Best Foreign Film category.

Which of the statements given above is/are correct ?
(1) aoenly (2) bandconly
(3) a,bandconly (4) Al

T oA FAeH TEId Feled] Tehisaisdl aHiuyam Geliedh! Hioe Td st
rEt ?

e F7f
(1) fomw — e fasfaa
(2) sifem —  fow et
(8) T —  aycqfemiya
(4) TEWE —  geeraegEE faeia

As per the categories of states proposed by the Raghuram Rajan Panel, which one of
the following pairs is net correct ?

State Category
(1) Bihar —  Least Developed
- {2) Odisha —  Special Status
(3) Gujarat —  Less Developed
(4) Maharashtra -~ Relatively Developed

FOEGT PHETATS! AR / SPACE FOR ROUGH WORK
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5.  wgen yfoaus sreamiw WETIEE Fegt AR FUAT AT ?

(1) 15 A, 2013 (2) 24 ¥, 2013

(3) 26 A=, 2013 (4) e Fod T

When did the Anti-Black Magic Prohibition Ordinance take effect in Maharashtra ?
(1) 15" August, 2013 (2) 24" August, 2013

(3) 26tk August, 2013 (4) None of the above

6. TERIUER (TR T fomEe) B
3F,  TAEHA e IUETR THHUETET T 9,
4. s FHaeys e waifin sga @ gann Aifa i T9hlg ua wes S

IUERET 3N HO W T2,

F. HOEEET FRRIN ARHR AR O THENIUER (e[ AR HR (FekE SRR
WATIER).

T @R FaevEa g, ey 9 REaen aee.

FhHaeh! Hiv fum sy g ?

(1) 3 % (2) Fsmirs

(3) % wad - (4) aleER Hord @

Right to Reject means :

a. Voters have right to reject all candidates.

b. It would lead to systematic change in polls and political parties will be forced to
project clean candidates.

c. Right to vote is statutory and right to reject is a fundamental right (as per
decision of Supreme Court).

d. It would foster purity, transparency and vibrancy in elections.
Which of the above statements is/are not correct ?
(1) aonly (2) aandb

(3) conly (4) None of the above

FoegT FTHRIS! AR / SPACE FOR ROUGH WORK P.T.O.
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HERE rEATe TSRy Fem faame e

A, R ANAT 9 Wik ST o |

9. Het A SeTehR @ TfE geear W& yseiedn Rigsiea aaATaTdt o,
%. fHAm ¢ 50,0009 2 9@ 9 AT 3 AR T SFUHEEA.

T WA SeEeTEl 15 R 2012 IR HUATE ATE.

et Fioe fum ste amg ?

(1) e (2) s

(3 H, T =E (4) s, =mafrg

Consider the scheme named ‘Manodhairya’ of the Govt. of Maharashtra :

a. This scheme is for all women and children.

b.  This scheme is rehabilitation of the survivors of rape and acid attack victims.
¢.  Minimum compensation ¥ 50,000 to ¥ 2 lakh and maximum ¥ 3 lakh.
d. This scheme is being implemented from 15th August 2012.

Which of the above statements are correct ?

(1) aandb (2) bande

(3} a,bandc (4} b,candd

-gareA fefifem — 2013 amae @refier fagm fommwa e

. Gt SEHeITETE S-HUE 80% TR AreREl T AavE.

9. FEWHS ThedEidl YHIE 70% A ATeie Sl e,

%, WEHOIEIE YHAH Bea 20% fshitm T qes sl Ao T dam ferehrershR

CLECAEC N
Fiadsh R fum g om 2
(1) Sas A (2) FaB 9
3) I F (4) TR FHoRd ard

Consider the following statements regarding Land Acquisition Act — 2013 :

a. For land acquisition for private projects, consent of 80% of the land owners is
necessary.

b. For land acquisition for public projects, consent of 70% of the land owners is
necessary.

c. In the case of land acquired for urbanisation, it is obligatory to reserve and
offer 20% of the developed land te the land owners.

Which of the above statements is not correct 7
(1) aonly’ (2) bonly
(3} conly (4) None of the above

FOEhT BPTETATST ST / SPACE FOR ROUGH WORK
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O T ST TS CE o ey werd st wfeh when v srefom faegren
foem 1 wata o wR wEwH 9 2

(1) RIS S FIHETH

(2) T BIHESH

(3 F.%. fat wetw

(4) T T TSoHR FIHSIH

Arunima Sinha is the first lady in the world to conquer Mount Everest with an
artificial leg. Which organisation helped her to accomplish this feat ?

(1) Jamnalal Bajaj Foundation

(2) Dhanwantari Foundation

(3 KK Birla Foundation

(4) Tata Steel Adventure Foundation

10.  Hud HEMTOITeRRT g ehrd! Vet Tofe ween R [LBT) @ fvarh afia
(1) 19 2013 (2) 1 TR 2013
(3) 1= 2014 (4) 1 AR 2014

The date of implementation of Local Body Tax instead of Octroi in Mumbai
Municipal Corporation is

(1) 1% April 2013 (2) 1% October 2013
(3) 1% April 2014 (4) 1% October 2014

11, & 2013 7ed gale AN TR @HYHERE (THER-HeR) S e amie

oot w s fFolg fen. omgar e wrea e sree SAewfatidia
7 Py wmp gom ong.
1) 6w @ 1ad @ 2ad @ 6%

As per the judgement of Supreme Court in July 2013, the MPs/MLAs would stand
disqualified on the date of conviction. This decision is applied to those
representatives who have been sentenced to more than imprisonment.

(1) 6 months (2) 1year (3) 2years (4) 6 years

FEEgT BTHTATS! SN / SPACE FOR ROUGH WORK P.T.O.
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12, @i fgue gg

H. 11 %gard 1 feaw Smfes g &7 v wre e .
¥,  WRAW A(UHA AFGATIH WIS S 22 TR,

FhAYH HR/S FamA a0 s/ ?
(1) S A (2) wEdH
(3) HAaAfrs (4) TR FUE A1

Consider the following statements :

a. 11 February is celebrated as a World Mother Tongue Day.
b. In India authorised total number of languages are 22.
Which of the statements given above is/are correct ?

(1) Onlya (2) Onlyb

(3) aandb (4) None of these

18. . T gl S g9 fifeer gt 2

(1) ym snftr fr (2) Fusg A

(3) welt Yy (4) o feem

Which book is not written by Dr. Narendra Dabholkar ?

(1) Bhram ani Nirash (2) Andhashraddha Vinashay
(3) Mati Bhanamati (4) Purogami Vichar

14. et SR fmee gefton agueem waw s st el s
IegT T FROR S o, Aol e g Sivrn gEeR S gren o 7
(1) SRR 9158 FHIHHIN HaTS
(2) IFrerent et gEER
(3) wERw 3 § R EHR
(4) @AY qEEHR
Which award was given to the scientist Dr. V.G. Shekharan for his tremendous

contribution to developing the technology of entering of long distance ballistic
missile in the Earth’s atmosphere ?

(1) Popular Science Communication Award
(2) Technology Leadership Award

(3) Scientist of the Year Award

{4) Swaminathan Award

HoedT HHTHS! ST / SPACE FOR ROUGH WORK
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15. e SElq ITEH RSP Tianhe-2' 7 I MW T AR,
(1) o (2) ==
(3) w9A (4) W

‘Tianhe-2’, the world’s fastest supercomputer, is built by
(1) USA. (2) China

(83) Japan (4) Germany

16. A HUFHT JiEn,
. . g g dfaumrear Wt 3 < 3@ waia SRR W 3TET el TR,
¥ ANEHIg T THY SIREW BT 69% TR
1) o o i, T T,
(2) [ ‘W PR, T WA
(3) s ‘W I T I TWR,
(4) w19 T A g

Select the correct sentence/sentences.

a. Dr. Ambedkar describes the Part III of the Constitution as ‘the most criticized
part’.

b. The extent of reservation quota is 69% in Tamil Nadu.
(1) Sentence ‘a’ is correct, b’ is incorrect.

(2) Sentence ‘é’ is incorrect, ‘D’ is correct.

(3) Both the sentences ‘a’ and ‘b’ are correct.

(4) Both the sentences ‘a’ and ‘b’ are incorrect.

/O] PTHIATS! ST / SPACE FOR ROUGH WORK P.T.O.



BO3

10 - A

17. %0 A9 SATR STaEATE B, ~AeATEEd Wieiter @i/ faum /3 wde am/a 2

A,
o,

(1
(2}
(3)
(4)

T AT B ARETT IT TeAF e =aren Feor=n A e 9w 2.
JRerTe TR e fafeer yraeRe fufiee @ s am.

T ‘o7 e TR Wy @ T,

fum @ sl o Wy ‘@

gl faum o 7 F a0 AR

gt faem ‘o’ T 9 g e

Tarun Tejpal has been in the news recently. Which of the following statements is/are
correct about him ?

a.
b.

(1)
(2)
(3)
(4)

Tarun Tejpal was the editor-in-chief of a monthly magazine Tehelka.
Tehelka is owned by a company named Anant Media Private Ltd.
Statement ‘a’ is correct but ‘b’ is not.

Statement b’ is correct but ‘a’ is not.

Both the statements ‘a’ and b’ are correct.

Both the statements ‘a’ and ‘b’ are incorrect.

18, AT FUA/FAN ASTl.

3.

9,

(1)
(2)
(3)
(4)

gegmtiirREr fiagia Frafia sxa 6, gare d@quf e e wrE FE a g
faeg a2,

e Feem fagm @ dfumm fdww <@ a9 qiedasia

FUq o W, T T,
F97 ‘O ghEN, T TR
FYd ‘7 T T A
%A ‘97 T T TR TR

Select the correct sentence/sentences.

a.

b.

(1)
(2)
(3)
4

Doctrine of Severability decides whether the law as a whole or only some parts
thereof are against the Constitution.

Doctrine of Progressive Interpretation takes the ever-changing socio-legal
context in view while interpreting the Constitution.

Sentence ‘a’ is correct, ‘b’ is incorrect.
Sentence ‘a’ is incorrect, ‘b’ is correct.
Both the sentences ‘@’ and ‘b’ are correct.

Both the sentences ‘a’ and ‘b’ are incorrect.

FEeg] FETATS! STATT / SPACE FOR ROUGH WORK
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Select the correct statements related to the Gram Sevak.

a. He carries out the routine work of the Gram Panchayat.

b. Heis appointed by the State Government.

¢. He maintains the records and accounts of Gram Panchayat.
d. Herecords the minutes of the meeting of Panchayat Samiti.
(1) a,b,d (2) b,e,d

(3) e¢d,b 4) a,c

B03

20.

f3emT (37) . AT UsgueAd ‘ITeqEes’ Ysgre Save T
FRO (F):  TCIEEEE AR @ R TeaeE we R,
(1) (a1) onfvr (F) SR 31ea, (9) B () 2 Ir i T2,
(2)  (31) 2nftr (9) AR MR, (F) 7 () T T Tafietor .
(3) () WS L, 90 () IF 3R

(4) () 9% AR, T (F) T 7R,

Assertion (A):  The word ‘Minority’ is not defined in the Constitution of India.

Reason (B) : The Minorities Commission is not a constitutional body.
(1) (A) and (B) are true, (B) is the correct explanation of (A).

(2) (A) and (B) are true, (B) is not the correct explanation of (A).

(3) (A)is true, but (B) is false.

(4) (A)is false, but (B) is true.

21.

Gt Horedt wreT SRaT AR v gt ?

(1) W 2 faedt

(3) Trard (4) @

Which of the following languages is not a recognised language of India ?
(1) Marathi (2) Sindhi

(3) Marwadi (4) Santhali

PTegT HHTHIS! SR / SPACE FOR ROUGH WORK
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22, Wil wiog Rum g#e R ?

(1)
(2)
3
(4)

foum wiwda srfvereqEr qagm T@q.
o= ftedy srduseuTar Hass 4 foa ==l g,
farum uftwen sddweqR 24 feaw ==t €1

Which of the following statements is incorrect ?

oy
(2}
(3)
(4)

The Legislative Council does not vote on the Budget.
The Budget is discussed only for 4 days in the Legislative Council.
The Budget is discussed for 24 days in the Legislative Council.

No option given above is correct regarding the Bﬁaéét in the Legislative

Council.

23. WeAEH FoR e gE#e e ?

H.
9.

(D
(2)
(3)
(4)

i graa: gien 99 yeEeOET o,
feureid vyt qETd ST e Al Sl geen g e

SrTa.
Haes UM 31 TR @ .
Fae faum 3 ghR 1 T
uwEl T g L

Which of the following statements is incorrect ?

a,

(D
(2)
(3
(4}

Ordinarily the first hour of the Vidhan Sabha is assigned for Question-Answer
Session.

During the Question-Answer Session in the Vidhan Sabha, any department can
be asked a question on any working day.

Only statement a is incorrect, b is not.
Only statement b is incorrect, a is not.
Both the statements are incorrect.

Neither of the statements is incorrect.

HOEGT BITATE! SIFT / SPACE FOR ROUGH WORK
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24. @l o famiRd S Tl o ?
# . d. o TS RN AR wata e Hie Teare 81 gAR 10 &Y.

9. f Teug YAR TR IamEdr TEid Al wies e TEA. I wienath gar
10 9 B

(1) fum o 9w wg @ @
(2) faum 9 9 wg &1 T
(3) <8 foum A
(4) A Faam om

Which of the following two statements is correct ?

a. Dr. P.C. Alexander had the longest tenure as the Governor of Maharashtra so
far, which was about 10 years.

b. Shri Sharadchandra Pawar has been the Chief Minister of Maharashtra for the
longest period so far. His period was also about 10 years.

(1) Statement a is correct, b is not
(2) Statement b is correct, a is not
(3) Both the statements are correct

(4) Neither statement a nor b is correct

25. I Yu AfE I FramEtiEE S TEReR fenh wEed iy ?

(1) ot v g (2) it AV TR

(3) ot awaua wR (4) i WEEg @R

Who has not been the Chief Minister of Maharashtra, more than once for different
periods ?

(1) Shri Shankarrao Chavan (2) Shri Yashwantrao Chavan

(3) Shri Vasantrao Patil (4) Shri Sharadchandra Pawar

Foeg] B! ST / SPACE FOR ROUGH WORK P.T.O.
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26.

14
AW arRT T BEH A FEH FREA S A 2
(L 3 (2) 3EH
(3) wew 4) &
In which jail, did the British keep Vasudeo Balwant Phadke ?
(1) Thane (2) Andaman
(3) Mandalay (4) Aden

217.

GIRHEIdeh! HIVAT FEATE! TG SIGITS A0S 4 shefl Bt 2

A, TH T NS . ¥ et

%, WeT 3ieTq S g §% 3fem sefiame

(1) 31, 9 7l % %aa 2) 9, % o 5 v

(3) 3, & o7 B Had (4) &, 8, & afir g

Which of the following institutions were established by Dadabhai Naoroji ?
a. Gyan Prasarak Mandali b. Bombay Association

c.  London Indian Association d. East India Association

(1) a,bandconly (2) b,candd only

(3) a,banddonly (4) a,b,candd

28.

WRAW od A1 SUTUITHIET ATE Soiare Friem et s

9. fsdiw visash JaavEhEt T FHfvamRRar 91 Iuced w6 Ul
%, WRAT @ 9 U39 d18qF ey sgal AR

(1) &% (2) A I T B

(3) « AU & wad (4) 33, gaafrs

Lord Dalhousie planned to construct the network of Railways in India in order to
a. Easily procure raw materials from the interiors of India for export.

b. Provide a profitable channel of investment for British capital.

c.  Provide cheap and easy means of transport in India.

(1) aonky (2) aandbonly

(3) bandconly {4) a,bandc

FoEd] HHNTS! SR / SPACE FOR ROUGH WORK
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¥, YA UPAEE e I9Tl.

%, fgf amftes weggran ufom.

(1) F anfor 9 %o (2) ¥ anfer % waa

(3) & IMfr &% wad @4 T

The British policy to grant independence to India changed because of the
a. Change in the Government in Britain.

b.  Rising tide of nationalism in India.

c. Impact of Second World War.

(1) aandbonly (2) bandconly

(3) aandconly (4) a,bandc

A 15 B03
29. W oW o I AflEe W iE TP dge TR HOaETE T B e ?
A, A e Ermaard 2.
. T YR Ahieee doAss B,
F. A YR AT SN arER, 38 9 8.
B ST MR AT SN T, 3R Jed B,
el wiv e st emga ?
(1) 31 anfor 9w
(2) 31 it % wFa
(8) o, 7 NfU &% B
() a0« ) vl o aned
Why did Sir Al;g}n Hume try to establish the Indian National Congress ?
a. Hewas aliberal.
b. He had a concern for the Indians.
¢. He wanted that Indians should be treated with respect.
d. He wanted participation of the Indians in administration.
Which of the above statements are correct ?
(1) aandbonly
(2) aandconly
(3) a,bandconly
(4) All the above three options are incorrect
30. YR W@ SUEEee (e GRund See el

FEe] MRS ST / SPACE FOR ROUGH WORK
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16 A

Geffath! ST GERUMER TERIER $.9, 1849 WYl TUNH Foiedl THEd ARl = W
&ar ?

q. dEE den

9. fogen gfdare

#. ot o

. g &

(1) 3%

(2) 1 T & Ba

(3) &, § AN & Fod

(9) it o vai g e

‘Paramhansa Mandali’, founded in Maharashtra in 1849, focussed on which of the
following reforms ?

a. Breaking caste-rules

b. Widow remarriage

¢.  Education of women

d.  Abolition of idol worship

(1) aonly

(2) aandbonly

(8) a,bandconly

(4) All the above three options are incorrect

32.

foge wHeAT 1935 <A1 FREE T Swiver weA qar sheft ?
W, afer afid afin fier v

q.  HEEE ST

%, HgE furd

g, s fmm 14 g

Fherdehl vt T ale e 2

(1) &, 93 (2) ¥, % 3TUT g

(3) #,gAVE (4) 3,8, Fafng
Which incidents prepared the background for passing of the Government of India
Act, 1935 ?

a. Muddiman Committee and its report

b.  Simon Commission

c. Nehru Report

d. 14 points of Barrister Jinnah

Which of the above statements are correct ?

(1) a,bandc (2) b,candd

(8) a,bandd (4) a,b,candd

FoeqT HEIST SR / SPACE FOR ROUGH WORK

R T



A 17 B03

33. 1906 =0 wdiw O quea Forhd) ATUETAR FAY UEEE SidEt qRME st I
Totred’ e IHSHO AT SIOT 1 i

¥, HYUl ST U UTa HErd ST,

F. WETe AT AR AT AT

3. whee fen vyt aven Sl geerh wmw.
Fieriehl ot faam gt s 2

(1) sy (2) % Mg
(3) woanmir= (4) Famrsg

In his presidential address at the 1906 Calcutta Session of the Indian National
Congress, Dadabhai Naoroji openly used the term ‘Swaraj’ and at this session

a. ‘Vande Mataram’ was sung for the first time as the national song.

b.  The demand for total independence was passed.

¢c. Moderate path was accepted.

d. Barrister Jinnah participated in the activities of the Indian National Congress.
Which of the above statements are incorrect ?

(1) aandb (2) candd

(3) bande¢ (4) aandd

34, A S faen.

(1) sy TG, —  R"RTN

(2) T THEYE U —  oneflmem

(3) Tagamy T —  deaaie g

(4) PeAwEw sfEEt - @S

Choose the inappropriate pair.

(1) Shridharalu Naidu — Ved Samaj

(2) Raja Rammohan Roy — Atmiya Sabha

(3) Ravindranath Tagore —_ Tattvabodhini Sabha
(4) Shivnarayan Agnihotri — Dev Samaj

FFETy] BTHTATS! AT / SPACE FOR ROUGH WORK P.T.O.
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85. ITCIMT ‘TSHE 9 NAHE AT (e v Toas=a1 wiq Hivft qumf et ?
A Pwm S w5
¥, gl qEERe ess
%. ofs. @49l w9
3. TYSEET aETER
(1) o wH (2) TwH (3 wafrs (4) ©%aq
Who demanded jobs for the untouchables in ‘Army and Police’ in the Saswad
Conference 7
a. Shivram Janba Kamble
b. Dr. Babasaheb Ambedkar
e. Adv. B.C. Kamble
d. Gopaibuva Valengkar
(1) aonly (2) bonly (3) candd (4) donly
36. SR QU (FHIE G S GUROTAT IISYUSAES) 1866 el g Wi fawwren e,

I QF HFT B -

¥,  ShuEEg 9 TG0 8 FEE S9N,
et wr fagr/fyum stet o ?
(1) o1 =R AR WY & 9%

(2) @ S 3 WG A IH

(3) P J 3 ¥ W

(4) TAWWAT

The Brahmo Samaj split into two in 1866 because of the radical reforms pursued by
a group. These two groups were

a. Devendranath Tagore’s Brahmo Samaj of India.
b. Keshavchandra Sen’s Adi Brahmo Sama;.
Which of the above statements is/are correct ?

(1) aiscorrect b is not

(2) bis correct a is not

(3) Both a and b are correct

(4) Neither a nor b is correct

FoEhT HEITS! SR / SPACE FOR ROUGH WORK
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37. UG YA S e STGAAT TS ArEdd W ow gt ?

(1) H= (2) W S (3) § Ferd (4) WG9 Tg

The cultivation of which crop was not encouraged in India by the British under their
rule ?

(1) Indige {2) Rice only (3) Wheat only {4) Rice and Wheat

38, i U SEE 3guE Hioren sreft Hrofi 3w ?
. reETed g g 9 T weeEn 3.
9. A i Y9 e aater 21 96 19 TN w9 wrelt s,
%, dls fereTem Al e,
(1) Stamfrs (2) s (38) SAanfr=® 4) R/, gfr®

What were the factors contributing to the foundation of the Indian National
Congress ?

a. Role of Western Education and the beginning of national consciousness.
b.  Reduction in the age for the Indian Civil Services examination from 21 years to

19 years.
¢.  The popular measures of Lord Lytton.
(1) aandb (2) bandc (83) aandc (4) a,bandec

39. Y& HIved gEToes-uTfiie Toad Yuda T wew g ?
(1) THEH HSH! o WIHIE TN T
(2) W THS 9 AR WHIS
(3) 3fem dve Hiwey T qwe afegg
(4) oa fordidiar Hrowardt o Jra T _
Which socio-religious movements were not founded in Bombay ?
(1) Paramhansa Mandali and Rahnumai Mazdyasan Sabha
(2) Prarthana Samaj and Arya Samaj
(3) Indian Social Conference and Social Service League
(4) None of the above three options is the correct answer

40,  ‘sfiudl JNTE FHOT S THISRIIREE FEUd . O A Al

(1) Ty S 93 (2) ST W

(3) WS Teh & (4) ST W HENH

‘Shripati Sheshadri Episode’ was associated with a social reformer. Name the social
reformer.

(1) Jagannath Shankar Sheth (2) Balshastri Jambhekar

(3) Bhau Daji Lad (4) Chhatrapati Shahu Maharaj

TR FATE! S / SPACE FOR ROUGH WORK P.T.O.
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41, OO SR FeheaTHEH o fuR st aRd ?
3.  RAWHiA qRET SRS Y.
9. onimEmHiet gatq WeT U Sehed.
F. IR TR STRE WRArde Ui AuE S,
T, FEedl WEEN AU YeheqTE g,
(1) &, s H (2) e
(3) Tenfr= (4) 9, saAMs
Which are the correct statements regarding the nuclear power plant at Tarapur ?
a.  First nuclear power plant in India.
b. It is the largest nuclear power plant in Asia.
c.  First nuclear power plant in India based on American design.
d. Nuclear power plant started with the help of France.
(1) a,bandec {2) aandb
(8 dandc (4) b,candd
42. & I s IR 9@ Siven o g 2
(1) st st St (2) et onfiT sasn
(3) e anfor il (4) Efern anfor yfercts
In which region are the mountain winds known as Chinook winds ?
(1) U.S.A. and Mexico (2) U.S.A. and Canada
(3) Brazil and Argentina (4) Australia and New Zealand
43. GrefieRl Fod T sERee el weula g sma ?

(1) & v resdedia HE fadk o,

(2) o il Aufifs e gEam.

(3) = fadrh Aafits ag qEam.

(4) SO HoRE T

Which of the following sentences are ¢rue about the Artesian well ?
(1) Itis adry well in the desert.

(2) Well which provides natural oil.

(3) Well which provides natural gas.

(4) None of the above

TFoedT HHEIS! 5PN / SPACE FOR ROUGH WORK:
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44, SN A
T T Ffig 3%
A AEEST 1.  mfsems g
B. U= . frwe geyan
C¢. Tawaen 1. gomeft s
D. TR IV. ds%h a9
A B C D
(1) 1III IV 1 II
2 Iv II I 1
3 I I 111 v
4 III I IAY II
Match the following :
Tourist Centre Famous Place
A. Lonavala L Gavilgad fort
B. Panhala IL. Lingmala waterfall
C. Chikhaldara III.  Tungarli lake
D. Mahabaleshwar IV.  Tabak garden
A B C D
(1) III v I II
2 Iv I I 111
3 1II I It v
4y III I v II
45. % SRt geeftem queTTRla wEea 7E
(1 79 (2) 59 (3) 49 4) 39
% of solar energy does not reach the Earth’s surface.
(1 79 (2) 59 3) 49 4y 39
46. AT giEAa wdl FETEdTET e W an

H., HEEAR 9. 9
%, T €. HUWAR
() 9 A, %, 8 (2) =, 3,38 3) 9,%,8, A 4) 9,5, A, 3

Arrange the human settlements in the process of urbanization according to their
development :

a. Metropolis b. City
¢. Town . d. Conurbation
(1) b,a,cd (2) e b,a,d 8) b,e,d,a (4 b,c,a,d

FoeqT HRTHIS! SR / SPACE FOR ROUGH WORK

P.T.O.
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47.

4

(2) s (3) o

qdies

Consider the following picture and state the tribal community of the couple.

(1)

Naga

)

4

(

Toda

)

3

Gond

(2)

Santal

FHoed] HHRATS! ST / SPACE FOR ROUGH WORK

(1)




A 23 BO3
48. wliE Reted e oo feaqren FieEy Frem Jesn A
& fRagrar F1srEry
A 0 I 209E
B. 41° II. 2478
C. 63 LI, 1598
D. 66 —é “ IvV. 1299
A B C D
1 I I III v
(2) IV 111 II I
3 Iv 111 1 II
4 II I II1 v
Match the following given latitudes with the length of the days :
Latitudes Length of the days
A @ I. 20 hours
B. 471° II. 24 hours
C. 63 ITII. 15 hours
D. 66 % ¢ IV. 12 hours
A B C D
1 1 II I11 v
2 Iv II1 1I I
3) Iv III I I
(4) 1I I II1 v
49. Tramg =1 fPrafdiendt afg o,
(1) s (2) dafis ar (3) ez (4) g @f
Redi port'is well-known for export.
(1) Mango (2) Naturalgas (3) Coal (4) Iron ore
50. gEIa RN e foraw w0
;. U . E
F. YBA @TF T AwEm
FOATRT HIVA YIATHR TEATT §ROT FHRIS G9R FAS ATRd ?
(1) 3,4, 3 (2) A, 3) H#A,9,FK T 4) 3,38
Consider the given landforms.
a. Qasis b. Hamada
¢.  Mushroom rocks d. Yardang
Which of the given landforms are produced by the erosional work of wind ?
(1) a,cd (2) a,b (3) a,b,c,d (4) a,d

Poed] HHTAIE] SR | SPACE FOR ROUGH WORK \ P.T.O.
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51. Erfia Sew wiEn ;

Feer R
A sitTETE L e
B. s II. 3%a 3N
c. wehdeh Il  JEs BN
D. 42 IV. FEE S
A B C D
(1 11 I I v
2 1I III v I
3) 1 1 IT v
(4) III I It v
Match the following :
District Mountain
A. Aurangabad I Galna mountain
B. Nanded II.  Verul mountain
C. Gadchiroli III. Mudkhed mountain
D. Dhule IV. Surajgad mountain
A B C D
1 I I m IV
(2 II II1 v I
3) 1 I It v
(4) III I II v

52. IV AN FIa- scish Y@ FA1 01 TGV A 9 ?
(1) foie s (2) =W
(8) = M (4) &R WS U

In which industry is carbon black used as the main raw material ?
(1) Cement industry (2) Leather industry

(3) Glass industry (4) Rubber goods industry

FEET HHATS! ST / SPACE FOR ROUGH WORK
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53. Gl 9 walih Ho ardw seagE wdefileT gy ded. fay d7 @ 2013 ue

Rrett 2
9. HARET gt el

(1) R o Freelt wg o 8.

@ fR @ fdh vig o T,

3) fR A @ T e

@) R o3 9 Recft T4,

Which of the following two tournaments has the Indian rising badminton superstar
P.V. Sindhu won in the year 2013 ?
a. Macau Open Grand Prix Gold.
b. Malaysian Open Championship.
(1) She has won ‘a’ but not ‘b’.

(2) She has won ‘b’ but not ‘a’.

(8) She has won both ‘a’ and b’

(4) She has won neither ‘2’ nor b’.

54, SHAA PR RS ?
(1) Rudea W FRigs TR Aeied] wEH SHeal
(2) s W'mzﬁgé TN FIie FEH HSa
(3) fewTdear @ FHIgs TR Feie 9EH TSH
(4) VR EH $AYS TR g9 78H @5H
What are drumlins ?
(1) Small hills produced by depositional work of glacier
(2) Small hills produced by depositional work of wind
(3) Small rocks produced by erosional work of glacier

(4) Small rocks produced by erosional work of waves

ToRgT HATHTST SR / SPACE FOR ROUGH WORK P.T.OC.
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55. YA SIVEHOET TSAEEA FHgT A4 ?

(1)
(2)
(3)
(4)

O, HeT W3, Afve e, wfong
TSR, Fe WG, Ufvem e, derer
T, WeT Wy, ufvem s, Avmets

Through which states of India does the Tropic of Cancer pass ?

(D
(2)
(3)
(4)

Gujarat, Madhya Pradesh, West Bengal, Manipur
Gujarat, Madhya Pradesh, West Bengal, Meghalaya
Gujarat, Madhya Pradesh, West Bengal, Mizoram

Gujarat, Madhya Pradesh, West Bengal, Nagaland

56. st gere @uuR wivdl ygaiis A g% s oed ?

(D
(2)
(3)
(4)

foelt vt arem
Yred} geEe e
HEET TEEe JoE
et TEETe A

Which of the following Five Year Plans was launched with the slogan ‘Garibi Hatao’

(alleviate poverty) ?

(D
(2)
(3)

(4)

Third Five Year Plan

Fifth ¥ive Year Plan

Sixth Five Year Plan

Seventh Five Year Plan

HTTT TS AR / SPACE FOR ROUGH WORK
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57. 2011 - 12 Y WRATSAT 91 WA GRees s feaia sl 9w
FEET A ?
(1) e, afrnt, W
(2) ufFn, Ty i, s
(3) Wrm, "o anfe, ghiT
(4) TSy FHifEr, e, =
In 2011 — 12, along with the Indian rupee, the currencies of which of the following
economies were devalued ?
(1} Brazil, Mexico, Russia
(2) Mexico, South Korea, Germany
(8) Russia, South Africa, Hong Kong

(4) South Korea, Japan, China

58. WYl BT HEA TESHAE SERIE IJUHEET, AP e e @ & faega
HOITEE, MR GHR A HE gt e a1 2

(1) swam#., wmwmd., aa, w.a. 4.4,

(2) aq, WA ., .., S,

(3) oA, ¥, H.v.am ., wemd.

(4) wWAGH., A H., WA\, A

Which of the following Central Public Sector enterprises were given the coveted
Maharatna status by the Government of India to expand their operations as global
giants ?

(1) BARC, HMT, SAIL, NTPC
(2) SAIL, NTPC, I0C, ONGC

(3) SAIL, BHEL, BARC, HMT
(4) NTPC, 10C, MTNL, ONGC

FoET HTHTS! ST / SPACE FOR ROUGH WORK P.T.O.
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59, g W Fae.
it Prera
a Femw R — oo qiie S
b. RfeEm ateh —  fh govdfte guron
c. shadl wiudt — W gywon
4 AwmaRd  —  fd S guom
(1) 3 %aa S0 3R (2) T 9 Herg TS IR
(3) F e WIS MR (4) 0 v S M@
‘Select the correct pair.
Committee Recommendations
a. Tendulkar Committee — Recalibration of rural poverty line
b. Narasimham Committee — Banking sector reforms
c.  Chakravarty Committee — Tax reforms
d. Chelliah Committee - Financial sector reforms
(1) Only ais correct (2) Only a and b are correct
(3) Only cis correct (4) All of the above are correct
60. TP T 39 HronEedia @refie faum fe=mme e

q. A RO FAHASSEE 2011 FE e,

9. 97 YIS TE NG IeTEAITe a] SedTeATen R 60% wdd SrearadEn .
%. = 9o 3Ry udin qaaues it T Scated & Fmie s R

T FioR/d faum/A SO agd ?
(1) % 3T (2) Fafs
(3) wanfors (4) Fafrs

Consider the following statements with reference to the National Manufacturing
Policy :

a. 'This policy was implemented in 2011.

b. This policy was implemented to enhance the share of manufacturing in GDP to

60%.

c. This policy’s objective is to create National Investment and Manufacturing
Zones.

Which of the statements given above is/are correct ?

(1) Onlya (2) aandb

(3) bandc (4) aandc

T HHTAIE! TR / SPACE FOR ROUGH WORK
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61. U= fam w30 Rt 2009 Uk wrer Feiewn SEaEEEd H G AR ?

A, W 49 JET aeEE ¥ 9 Tsamdie S Rt st dufe ega =
AT 3R : T WS T Pg AGH G Tohe ol a8 o TATaan areo,

9. e o o, @A 9 Yo 1 6 9eT aafid (SqEH) g2 e B SRy e
T T MYRAPT freral T v R ot o =] TEeaE g .

1) fFum o R om Wy & T

(2) Fum = @t 9’ wg o TE.

(3) T s o 9 9 @ e,

(4) A€ faum °r 3 F g T,

What is true of the report submitted by the Thirteenth Finance Commission on

December 30, 2009 ?

a. The Thirteenth Finance Commission has justified the existing constitutional
arrangement of division of taxes between the Centre and the States, many
direct taxes being levied and collected by the Centre but the proceeds are
shared with the States.

b. Poorer states stand to gain from three major subsidies viz. food, fertilizer and
petroleum as they get adeqiiate share therefrom and should therefore be
continued as such.

(1) Statement ‘a’ is true but ‘b’ is not.
(2) Statement ‘b’ is true but ‘a’ is not.
(3} Both the statements ‘a’ and b’ are true.

(4) Neither statement ‘a’ nor b’ is true.

62. @l feviedn wafTGR WRardiel SCSTeHe SIS RT3,

A FM WA gig

q.  HHIISG S 918

%, Igfua daee

T e fegor yomeft

(1) o, 9+ (2) W, ®Hars
(8) =, 3 Hfor a1 (4) =g

Find out the reasons for structural unemployment in India.
a. dJobless growth
b. Increase in Labour force
¢. Inappropriate Technology
d. Inappropriate Education System
(1) a,bande (2) b,candd
(3) e, danda (4) All four
o HTHTS! O / SPACE FOR ROUGH WORK P.TO.
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63. T¥ 2012 — 13 I INiEIdt WRaTha 92 faesht [aavEhde Rvagar gde el wean s

HigUf .

A, IUH 3. fmg

F.  eted g Hifwem

(1) #A,9, s (2) «, %, g R
(8) W, g Anfre 4) ®, %, s

Arrange the following countries in a descending order according to their share in
Indian FDI for 2012 - 13.

a. dJapan b. Singapore
c¢. Netherlands d. Mauritius
(1) a,b,candd (2) b,e,danda
(3) c,d,aandb (4) d,b,aandc

64, Wl o THedn TFT TN Tigvlt g T Teht o wr=raTg oweft anfvr Friem
RTIER sreriear svArdte fafduar seaevamnd) femre i 2

. FEEEROT e e

4. Fdar e awdet fed

F.  Fd9W GmEies S R

€ gaan arfee s ferd

1) FJ{, TS (2) & &g

(3) ®, s ftr (4) = wd w

Which of the following concepts are devised and standardised by National Sample

Survey Organisation and accepted by Planning Commission for analysing
dimensions of unemployment problem ?

a. Usual status unemployment

b. Current daily status unemployment

¢.  Current weekly status unemployment

d. Usual monthly status unemployment

(1) a,bandec (2) b,candd

3) c,danda (4) All the above
FUEAT BITATS! ST / SPACE FOR ROUGH WORK
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65. Wil HUrE WA T SFEISRT FIAGEST 40 THEAEE 10 THIH FH FHOAT
RrerE Feft 2 |

(1) wrftareA afid
(2) <o wf
(8) féem afch
@) ¥t At

Which among the following committees recommended the reduction in priority sector
lending from 40% to 10% ?

(1) Swaminathan Committee
(2) Chelliah Committee
(3) Narasimham Committee

(4) Kelkar Committee

66. 2011 ¥ Fffear wHa ferpr Fdws qeareTeaT Iaten FH gt axmel Wigoft .

3. A

. afkm

F. N

3. 9d

(1) o, 9, % MM g (2) o, %, T M
(8) 3,9 gk (4) 3, %, 9 T &

Arrange the following countries in descending order of their HDI value for 2011.
a. Norway

b. Australia

c¢.  China

d. India

(1) a,b,candd’ (2) a,c,bandd
{(83) ab,dandec (4) d,ec,banda

T DRIS JRT / SPACE FOR ROUGH WORK P.T.O.
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32 A
A g9 Rrarren famm
. S w4 e va gatg fte 8 e .

9. YNadie e wa A9Egd U 1950 — 51 AT 23 SUas 39 T 1996 — 97 =
89 TEIETE BFX UIAY GGell STTE.

HTT | 6.

1) R o st T 9 5

(2) faum 9 SO Wy o7 I

(3) I Faum ‘of 7 @ =R

4) ¥ fum T D T

Consider the following two statements :

a. India has the largest irrigated area among all the countrjiég in the world.

b. India’s irrigation potential increased from 23 million hectares in the pre-plan
period (i.e. 1950 — 51) to 89 million hectares at the end of 1996 — 97.

Now state whether :

(1) Statement ‘a’ is correct but ‘b’ is not.

(2) Statement b’ is correct but ‘a’ is not.

(3) Both the statements ‘a’ and ‘b’ are correct.

(4) Neither statement ‘a’ nor ‘b’ is correct.

TEY Tl ST (SRe]) Seqtgrd et gren @evm, 1900 - 2000 Femdiat, cwkariem

WEIA 1950 ~ 51 =41 56-5 TR 2012 — 2013 =41 13-6 79 waien M. 41 Idea sawedd
H1a grfifiea o2 ?

(1) Has 3=
(2) 9t a9 v
(3) ) 9 TETHTHT Ha

(4) i T vaiE T

The share of Agricultural Sector in Total Gross Domestic Product at 1900 — 2000
prices in percentage terms has decreased from 56-5 in 1950 — 51 to 136 in
2012 - 2013. Here the term Agriculture includes

(1) Agriculture alone

(2) Agriculture and Forestry only

(3) Agriculture and Fishing only

(4) None of the above is the correct answer

T BHTEIGT ST / SPACE FOR ROUGH WORK
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69. ©T 1956 =1 sienfis Mom i et @ SR ST welen st wha ey
TaTis AeHd e S et e Sta fafey st ara s wie o Fen
Wew, e ARl 50 avia
A, ArifeE ST 5 .
¥, YRd I e gdt At i uy o
3Tar e <t
(1) foum ‘o ;U g ¥ I
(2) UM @ TR WG T
(3) = faum o 3 @ =L
(4) T faum o 7« 9%

The process of industrialization launched as a conscious and deliberate policy under
Industrial Policy Resolution of 1956 and vigorously implemented under the Five
Year Plan involved heavy investments in building up capacity over a wide spectrum
of industries. As a result over the last nearly 50 years

a. Industrial production went up by about 5 times.

b. India became the fifth most industrial country of the world.

Now state whether :

(1) Statement ‘a’is correct but ‘b’ is not.

(2) Statement ‘b’ is correct but ‘a’ is not.

(3) Both the statements ‘a’ and ‘b’ are correct.

(4) Neither statement ‘a’ nor ‘b’ is correct.

70, Ifior HorGEIRRETAT UER HATIA T

A, T GRS HISET YaHATE BRI S AR, TEH Tawhi T TSR HRU S
STEYEF AEAETT, 9 A8 & Aaehien dig 2vars et .

g, 7 e Sdae et AaeRd T A e aE.

(1) faum ‘o s wg = it

(2) foum 9 s Wy or T

(3) < faum o 7 T TR

(4) I faum w I T T,

As per the National Commission on Rural Labour :

a. The new strategy has favoured big peasants and the small farmers have lagged
behind as they do not have the required resource base, the requisite knowledge
and risk bearing capacity.

b.  The rural poor should be absorbed in agriculture as owner cultivators.

(1) Statement ‘a’ is correct but ‘b’ is not.

(2) .Statement b is correct but ‘a’ is not.

(3) Both the statements ‘a’ and ‘b’ are correct.

(4) Neither statement ‘a’ nor ‘b’ is correct,

HTEgT WIS ST / SPACE FOR ROUGH WORK P.T.O.
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71. EEARBRIET FeHl IF T TG 2 3wy anTam.
(1) rfefaas offhe (2) oifferda
(3) duReemia 4 =
For prevention of heart attack, the drug that can be used is
() Nalidixicacid (2) Aspirin
(3) Paracetamol (4) Rantac
72. wES awTEE fRar SamEe o s g=t @ Fee st s .
(1) SR v @ @@
@ feme @) @
is the cause of bad quality of sound in an auditorium or in public
audience.
(1) Internal reflection (2) Resonance
(3) Reverberation (4) Pulsation
73. wgE @i g L.
(1) avioRed TFH
(2) EAR TEE
(3) Torsaior SAw
(4) A=A

Depth of the sea is determined by
(1) Chromatography technique
(2) SONAR technique

(3) Extraction technique

(4) Refractometer

TOET FHITS! SR / SPACE FOR ROUGH WORK
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74. SET MSIET SR ) R wH gy, R =N

(1)
(3

ofisae B (2) Ho B
e 2 (4) I FroRE T

The size of Naphthalene balls decreases after some days because of

(1)
(3)

Evaporation (2) Condensation

Sublimation ' (4) None of the above

B03

75.

T IO Hald TR .

(1)
(2)
3)
(4)

eI Y
yefte fgagrr
geefte afawtmeed
Jedt=aT gEWRTIaT

The weight of a body is maximum

(1)
(2)
(3)
4)

at the poles of the Earth

at the equator of the Earth
below the surface of the Earth
above the surface of the Earth

76. WG Ta R FUN aftsy ang ?

(D
(2)
(3)
4

ArEE I e

dige, wiftem 9 frea
TEE, BT I Fawe
args, o7 9 wEA

Stainless Steel is an alloy of

(L
(2)
3
4)

Iron and Carbon

Iron, Chromium and Nickel
Iron, Chromium and Cobalt
Iron, Tin and Carbon

Tl HHTETS! G / SPACE FOR ROUGH WORK
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77, ‘T wefie @1 qETEes sl -

(1) SRR @) o wmda
(3) = offe (4) FAUHEHAT
Main component of ‘Dettol’ is —
(1) Bithionol (2) Tincture iodine
(3) Boric acid (4) Chloroxylenol
78, & s st v et v R .
(1) s ad (2) IFa
(3) wwgfie (4) e
is the largest gland in the body which secretes bile juice.
(1) Salivary glands (2) Liver
(3) Pancreas (4) Gastric glands
79. OHE wUT SaIWEes _ Terenfier Srsfiear waenfe=n .
(1) | 10,000 (2) 98,000
(3) 97,000 (4) 98,500
There are about kilometers of blood vessels in the human body.
(1) 10,000 (2) 98,000
(3) 97,000 (4) 98,500
80. Fgam__  wnfiam.
(1) 37 Zom (2) o s o
(3) it IEl (4) R HoRE T
Scorpions are
(1) Oviparous (2) Viviparous
(3) Both above {4) None of the above

FoedT HETATA! SR / SPACE FOR ROUGH WORK
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81, Wil SN SRGET AT JHERAMFSE A7 FqT 9 R ?

(1) o, gEumen, g, fawa, s

(2) fowa, s, gEAvE, g, g9

(3) wewen, geh, g, fawa, smwrmm

(4) =0 Tl T

Which of the following ranks astronomical objects in ascending order of their size

correctly 7

(1) Sun, Solar System, Earth, Universe, Galaxy

(2) Universe, Galaxy, Solar System, Earth, Sun

(3) Solar System, Earth, Sun, Universe, Galaxy

(4) None of the above

82, wrfie AW uftay gt € wHIR Srevht ama S
(1) < Tergaur freavamEt
(2) = fagaam fresgvamart
(3) ¥t Seoft @t am@
(4) Ol wrorE T

Housing wiring is made with all points in parallel connection
(1) for getting higher voltage

(2) for gettiﬁg more current

(3) asitis easy to connect

(4) None of the above

83. Wil SV gigh AR TR 9 AiEs I ?

(1) deEre (2) aATHIEATEE
(3) <TeERIETE (4) oguE
Which ore contains Copper and Iron ?

(1) Malachite (2) Chalcopyrite
(3} Chalcocite (4) Azurite

FTET HHETAIS! AR / SPACE FOR ROUGH WORK : P.T.O.
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84, U WTANIHGA GHA1 WIAHIHS NHME o5 R0 J@ HaE, W R
G .
(1) W= (2) AvEdH
(3) T (4) vEoor (femem)
The bending of a beam of light when it passes obliquely from one medium to another
is known as
(1) Reflection (2) Refraction
(3) Dispersion (4) Deviation

85, iR A W ST Qe Hio ?

(1) SrhgEt (2) TEw

3) smfen @) Ferme
The main symptom of Gambian fever is

(1) Headache (2) Dysentery
(3) Diarrhoea {4) Insomnia

86, Y2 oo wienw dawier M Semad 3fua s g vt fae -
X+Y=2
Z+P=T
T+X=M
Y+P+M=100
X=8
(1) 42 (2) 50 (3) 58 (4) 48

Select appropriate number from the given alternatives to substitute variable M in
the following set of equations :

X+Y=2
Z+P=T
T+X=M
Y +P+ M= 100
X=8
(1) 42 (2) 50 (3) 58 (4) 48
OEIT WIRTAIS! ST / SPACE FOR ROUGH WORK
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87. TS Hidigw A¥d KOLHAPUR & ¥& PLOSZKFI s fafgaa. @ == wikfas Wi«

TASGAON 71 W2 a7 fafgen s 2
(1) GIZITZLMH {2) GZHTZLM
3) GZHTAZM (40 GZHLMZT

In a certain code language, the word KOLHAPUR is written as PLOSZKFI. Then
how will the word TASGAON be written in the same code language ?

(1) GZTZLMH (2) GZHTZLM
(3) GZHTAZM (4) GZHLMZT

88. W fqmeafdfi s W X, Y, Z et amg anfor 2X =W+ Z, 2W=X+Y, 2Y=W

e IHTER HH HET A ?
(1) W<e<Y<X<Z (2) Y<W<cX<Z
3) X<Z<Y<W 4) Z<X<W<ceY

The heights of 4 students are W, X, ¥, Zand 2X=W+Z, 2W=X+Y, 2Y =W.
Then what will be the sequence of their heights ?

(1) We<Y<X<Z (2) Y<W<c<X<Z

3) X<Z<Y<W 4) Z<X<W<Y

89, UH g Wiictre fafgw we feorelt s, wdhl ywaTd forgl (2) ifdee Ug Meed TR,
T M 95, Teeiear wafamy siar.

ak, eo, is, (?), qa, ue
1 Iy (2) mw 3) lw (4) mv

Various terms of a letter series are given, with one term missing, shown by (?). Find
out the missing term out of the given alternatives.

ak, eo, is, (?), qa, ue

(1) v (2) mw - 3) Iw 4) mv

FET FHMIS! SR / SPACE FOR ROUGH WORK P.T.O.
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90. WETER A, B, C3 D I 9R TSRhIT T8I YagqH S@iauaTh Jaeert ot W arearet g, @
Ve TF SIS € AR, GHagHg YEeel e ok, giig, §Y, 9 9 e offt
311%?['.

TEaHH HYEl RUS e seea S| .

C 1 wET=A1 Yaacen D A1 G Yeaared] I suEe A,

T ¥ A 1 v Wit s,

B 3 C I 98 Jath GU-aIh<Al oIl Sl Sudie.

FHAIZ ¥ TN~ TEG 9 o WY AT o191 Ireamed aedie.

e W AT W T ST SR A

N R C I IHN Ak IRT G o SreAT SAEE qwi,

I GHTH AR ?

1 R (2) am 3) @q (4) e

Mr. Garg is in-charge of the sitting arrangément of the speakers of four political
parties, A, B, C and D, on the dais. In addition to these speakers, there is a

coordinator. The speakers’ names including the coordinator are, Jere, Hamid,
Khemu, Thapa and Patel.

The coordinator must sit in the middle that is on the third seat.

The speaker of party C does not want to sit next to the speaker of party D.
Patel represents party A.

The speakers of party B and C, will sit on either side of the coordinator.
Hamid is not the coordinator and will sit between Khemu and Thapa.

The coordinator will not sit next to Khemu or Patel.

Jere is the speaker of party C and will sit on seat number four.

Who is the coordinator ?

(1) Jere (2) Thapa (3) Khemu {(4) Patel

FEeqT BETHIS ST / SPACE FOR ROUGH WORK

B TR 2 1+
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91. frm usfieen wbie wewmde i wege Afem gdha Ter ReraT ¥
zalftrinem — energyplay
trinemdrik — playground
trinemasky — playtime
R T JE 99 9esY STt aU ‘sometime’ W WEGTEIS! A1 v 1@ Fagia ?
(1) zlafasky (2) =xopqasky (3) askyzlaf (4) drikasky
Melvin decoded some words from the coded message, sent by his friend, as follows :
zalftrinem — energyplay
trinemdrik — playground
trinemasky — playtime
How will he code the word ‘sometime’, if following choices are available to him ?
(1) zlafasky (2) xopqasky (3) askyzlaf (4) drikasky
92,  YEraETAl AT AUt wEA Hivw ?
5,25b, 61, 113, ?
(1) 191 (2) 101 (3) 161 (4) 181
Which will be the number in place of the question mark ?
5, 25, 61, 113, ?
(1 191 (2) 101 (3) 161 (4) 181
93.  wwRegTeaT At Hd se e ?
7 14 90
21 | 34| 26 27 | 41 | 28 119| ? | 140
16 15 - 91
(1) 199 (2) 299 3> 219 (4) 291
Which will be the number in place of question mark ?
7 14 90
21 [34 | 26 27 | 41 | 28 119 ? 140
16 N\ 15 91
(1) 199 (2) 299 3 219 (4) 291

TTET TS SR / SPACE FOR ROUGH WORK

P.T.O.
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94. <! fymren sfiwdm veme fafie wey oM. A TEy 1 fere e EE eined
AR, « 7 7 Togrea sEwA T W M TR, o fadieun wataiyy v
APOC:?::ITSK: MVUN
(1) DRQH (2) EQRH (3) ERQG (4) ERQF
There is some relationship between the terms to the left of ' and the same
relationship exists between the terms to its right. One term to the left of © " is
missing. Find it out from the given alternatives.
APOC:?7::ITSK: MVUN
(1) DRQH (2) EQRH (3) ERQG (4) ERQF

95. YRSl I IR WEET AW A9 943 omda. ufdewn I e fafie Pommew e
Weienr Rd. e agea weds (7) far o, Reiewn wfardshi vt gt H@e
(‘?)?rrrrﬁa?ﬁaaaa%?ﬁshm

@

(1) 45 (2) 47 (3) 55 4) 57

There are three circles with four figures outside them. In the first two circles, figures
are mentioned according to a rule. In the third circle a question mark (?) is given.
Out of the given alternatives, which one fits in place of the question mark
accurately ?

3 6 2
2 3 9

(1) 45 (2) 47 (3) 55 (4) 57

96, Wil i a0t Avarardt worh g9 Thrfa R s SEem s g ?
12+2-6x3+8=16
(1) +9+ 2 -9+ (3) xd9q+ (4) +9x
Which of the following two mathematical signs need to be interchanged to make the

given equation correct ?
12+2-6x3+8=16
(1) +and+ (2) -and+ (3) xand+ (4) +andx
FHoEqT BTATHEIS! AR / SPACE FOR ROUGH WORK
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97. @A vgEeE e #a.
20 + [2—1— - 4—1— + 6—1—]
3 3 38
4 7 8 8
(1) 85 (2) 25 (3) 6-3— 4) 4~1—3
Find the value of
20+ [2-]1 - 4l + 6—1—]
3 3 3
4 7 8 8
1 2 L d L
(1) 8 3 (2) 2 3 3 6 3 4) 4 3
98, W 15T =047, T - 2 < fwd v
' =0T o '
730 73 77 73
1)y — 2y — 3) — 4) ——
) 77 ) 77 ® 7-3 @ 770
If 1-5m =0-04 n, then the value of n-o is
n+m
730 73 77 73
1) — 2) — 3 — 4) -——
M 77 @ 77 ® 7-3 @ 770
99. 4 3 ol s ST M-t T fdt arda 7
(1) 220 (2) 224 (3) 225 (4) 228
How many three-digit numbers are divisible by 4 ?
(1) 220 (2) 224 (3) 225 (4) 228
100. Greiia el gatd "Il e B! ?
1311 9 7
217177 137 11
13 11 9 7
1 —_— 2) — 3) — 4) —
(D 21 (2) 7 (3 13 (4) 11
Which is the largest among the following numbers ?
1811 9 7
21717 13" 11
13 11 9 7
1) — 2) — 3 — 4) —
W 21 @ 17 @ 13 @ 11

FETT HIETATS! ST / SPACE FOR ROUGH WORK



(8) wgferme) fafda Foen faftre arfe 9 &M (15 9%) e, TR Somfiea a1 T
FIEEL F= B AW 3 BA FOAT AW FA AR, AY AW TR I YR INTENGT TR
It Foewr ‘ohgmed for=n o wRey sEmEes sftfeg-g2” afe sEdqer wRar
oI J¥A 9 O sgeft FuTel T awtear SEErer i/ TR 3R v TR e e e
o Aa.

(9) T YWEURFRE R fafdm Sl 95 dreuWa IAET § TR W ae SaTsaTETa
U9 WNEM WEEN R, W gfiamedreany wmuang SHeEwm et Iwdfieen Wl
TRAEEHTHE 7 R W w0 e o,

e Tea

Pick out the correct word to fill in the blank :

Q.No. 201. I congratulate you your grand success.

(1) for 2 at

(8) on (4 about

W AN O IR Q) on” B M. WHS W TR W ) BEw, W
FTAEATHI Y9 . 201 TS SoEEE @) a1 Fu wreheHEe Quiee seifed
FEF TG0 IEVEF AR,

w2, O @ @ ®

T g e WYRRehdie YeiE WeTET gl IR 81 gRere Saadten giaset
FeBHES & T TEEHwERE geiid e ivn SRtk FEA dRaarEr. T
e ®ToAT IR "iea ao, 9f e | ymdR O 3w 11,

AT BTATATS! ST | SPACE FOR ROUGH WORK



